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QUESTION 1
This question requires that you evaluate the underlined text to determine if it is correct.
A key defines the amount of storage space that is allocated to a value in a column.

Instructions: Review the underlined text. If it makes the statement correct, select "No change is needed." If the
statement is incorrect, select the answer choice that makes the statement correct

A. No change is needed
B. format

C. data type

D. validator

Correct Answer: C

QUESTION 2

A database contains two tables named Customer and Order.

You execute the following statement:

DELETE FROM Order

WHERE CustomerID = 209

What is the result?

A. The first order for CustomerID 209 is deleted from the Order table.

B. All orders for CustomerID 209 are deleted from the Order table, and CustomerID 209 is deleted from the Customer
table.

C. All orders for CustomerlID 209 are deleted from the Order table.
D. CustomerID 209 is deleted from the Customer table.

Correct Answer: C

QUESTION 3
This question requires that you evaluate the underlined text to determine if it is correct.

A relational database management system employs the concept of an attribute to ensure that data entered into a field in
a column is valid.

Instructions: Review the underlined text. If it makes the statement correct, select "No change is needed." If the
statement is incorrect, select the answer choice that makes the statement correct.
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A. No change is needed
B. a primary key

C. a constraint

D. an index

Correct Answer: C

QUESTION 4

A view can be used to:

A. Save an extra copy of data stored in a separate table.

B. Limit access to specific rows or columns of data in a table.
C. Ensure referential integrity.

D. Save historical data before deleting it from the base table.

Correct Answer: B

QUESTION 5
This question requires that you evaluate the underlined text to determine if it is correct.
Use indexing to create, remove, or change database objects.

Instructions: Review the underlined text. If it makes the statement correct, select "No change is needed." If the
statement is incorrect, select the answer choice that makes the statement correct.

A. No change is needed.

B. Data manipulation language (DML) statements
C. Data definition language (DDL) statements

D. A unique constraint

Correct Answer: C
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